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LRMY +125y=5 y0)=6.6 (10%)
2.RB Y +4y' +5y=5 y(0)=2, y(0)=-5 (10%)

3.% (Ax+ By)dx+(Cx+ Dy)dy =0 % it 4 J #2 K.(exact equation) > 8] A, B, C, D % 47 FR %]?
FRAWESFTEKX - (10%)

438 TF 7] 2 X #) Rank Z47? 3 24 & # 3 %% (Gauss elimination) £ 2z - (15%)
3x+7y—4z=-46
Sw+4x+8y +z= 7
8w +4y-2z= 0
-w+6x +2z= 13
5.4 K& $r £ $ b $#(Laplace transforms)iE § 7> Bp £ f O]=F(s) %w, 6, k %%
IS
al[r’-21]=7 (5%)

b.L[cos(wt +0)|=?  (5%)

cLtsin(t+k)]=? (5%)

6.f=xz, RR[AEBP R BaF ey T d %, P:(-1 1, 3), a=[l, -2, 2] - (10%)

=
>
!
S o

8.xm [

S W O

(a,b,c)
(0,0,0)

1
2 RARANBHERLHBABRAE - (15%)
2

xyzidx + 2 dy + xPyzdz =2 (15%)




